95

KLDO#a —J)U3%, —fZEfEEX (H=1250)s=1:20

1150

45

& iR

~Ak S |J O
Bo R ol
W& Jo TEE
A =10 120
9° MY 9° @MY
|
= D10 O
¥ d 8
€ D10 Sl ?
: g o CI ) 5l
N N
L &1 s & € D10 o = % -
Q) 1 o T S
& € 10 Nk e — 075AER
—|f D10 D10 | . . RS (W1/2X38) §
S8 ool J [ 1 | €) D10 A SO 5 S N
[QV/ Ires n l—%—
= — :v} ] ] ] ] uI & =
|
D10 o D10 D10 450 13 3l
5 95]  5x300=1500 550 | 350
49 3xP50=750 10x150=1500 133 765 4725 1050 4725
45 799 | 56 52.5 1890 52.5 900 1995
6»D10
i B =1: FAT-4
69 D10 & D10 | & D10 REMIBE s=1:40 CHERH
n ES B4y ]
, e BEHEER (BB, 13 %%Y) & & & EE RE Erii E'Hﬁlgsﬂ'ﬁﬁ
ML 13-D10X1260 2-D10x880 8-D10x810 & :
| aa| & | 55 [suT L2 2R, [n= ‘ EiE -
S D10 | 1260 [13 | 0560 | 947 | [ BEIOE KE
o DIO| 880 | 2] 0560 | 099 | 1 T ~ane HEA» t0fE% 2ovbh, HtEt
= DI0O| 190 | 2] 0560 | 021 | ¢ - I Ly HA» T OREERE ¢ 225
e ~ | DIO| 810 | 8] 0560 | 363 | L i 93\19 il [T wet| a= 10
= 5 DI0| 910 [13 ] 0560 | 662 | — 0 30 b8 1E 7-0VIER
X DIO| 400 | 2| 0560 | 045 | - RiEE Ki= 0.20
_ L = S [p10| 300 | 2| 0560 | 034 | - ot pa s L0 K/ 18
- g g (& [p10] 440 8] 0560 | 197 | N FARE B8~ 2 U — N 24
o I % D10 | 1900 [ 12 | 0.560 | 1277 | — EPEPEIS HE 357 BV 30.0
= I} e S 1) — T 2
= pio| 810 | 2] 0560 091 | — 4| Y2V PE@BAE |we| 100 | 200
FE B Al 8 v €913-D10x910 & 2-D10x400 € 8-D10x440 S avou-heabiEhEwm| 08 | 12
X (M, 13 SxY) w | KESIERBNE wee| 200 | 295
Al B B BB W E =~ -—
= T % SD295A | ks| 37.06 F Fr %‘:\—_g -
~ — e — WV -
_ 3Y2U-HFc300 [ v | 0487 [1170ky/3 % @ % HE% | pamsg (0 = 1250
0 A_Jv b Wi/ex38l @ | 2 ®R 1:20|BESES [KL-303
m \ =, = — N
Do | [ ©n10 WFo5v7 1S40 |2 ] ¢ 2Er=H8 ¥m 8% 6A 1O
o u o s 2
m Ul oy
TEEXFKRIASH




